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(i) WE-THIvTGEIT21 T26 TF 6 J97 & Ud Y4 J97 31 371 H1 8 /

(lv) TWES-THIITGEIT27 T34 TF 8 77 8 Ud Jcdiep J97 li4 37H1 BT 8 |

(v) EE-TF T I G35 G40 TF 6 F97 & T Y% J97 TR HHI FT13 |

(i) Y-9F T GHI W FIE [ 5T 8 | AT UE-UF ek arcd @) FoAl 8, a-a b
FIcT & I1 H, @i~ bl dict di FI H, TR-TR bl it di7 3e7T H Ak
fawe 12077 & | 08 797 8 a7 U @ farheq &7 3R 71T |

(vii)  GF IARF, ITTTFATAR, FeF IFHFT IR 77 & G FINET [T 15T TTE |
(viii) PTPA B I H FAT TET 8 |

WE-F
T HEAT 1 — 10 T sgfaehed T2 & 8 Toeh o1 1 375 2 | 31191 Hal Tohed 1 3 |
1. 135@uT225 w19.9. (HCF) 8
@) 15 ®) 75 © 45 @ 5

2. 144 % AU UGS H 2 HI I B :
(a) 2 (b) 4 (@ 1 d 6
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General Instructions :

Read the following instructions very carefully and strictly follow them :

) This question paper comprises four sections — A, B, C and D.
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This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark

each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two

marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three

marks each.

v) Section D — Question no. 35 to 40 comprises of 6 questions of four

marks each.

(vi)  There is no overall choice in the question paper. However, an internal

choice has been prouvided in 2 questions of one mark each, 2 questions of

two marks each, 3 questions of three marks each and 3 questions of four

marks each. You have to attempt only one of the choices in such

questions.

(vii) In addition to this, separate instructions are given with each section

and question, wherever necessary.

(viit) Use of calculators is not permitted.

Section - A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.

You have to select the correct choice :
1. The HCF of 135 and 225 is
(a) 15 (b) 75 () 45 (d) 5

2. The exponent of 2 in the prime factorization of 144, is

(a) 2 (b) 4 (© 1 d 6

30/3/1. | 3
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3. 3HEATR HE, FEhI na(9G a_ = (3n + 7) &, 146 A2 :

(@) 3 ®) 7 © 10 @ 6
4. A HITEAFTIEHR AT (2 + 4o+ ) T 8, 8
(a) 16 ®) 9 © 1 @ 4

5. ko1 98 9 foes foe Rgeh Fiehtor I8 ky + y = k2 @91 x + ky = 1 % 39HHd €9
YA EAE, §

(@ +£1 b) 1 (© -1 (d) 2
6. pdTFEARS AT (2p + 1), 10 AT (5p + 5) Teh THIHR JE & dHFUH IS8, &
(@) -1 (b) -2 @ 1 d 2
A
RSG5, 9, 13, ..., 185 Afha g B 7
(a) 31 b) 51 (© 41 d) 40

7. S 1 H TETG p(x) HT 3O fe R 195G H Yk B HEAT R

VNN 74 0412345
-2
-3
T4
SATHA-1
(@) 1 (b) 2 (¢ 3 (d 0

8. dfq faigadi A(10, —6) @1 B(k, 4) %! e aTel TWar@s &1 9e9-feg (a, b) B, @1
a—2b=18% AWkHTAA

(a) 30 (b) 22 © 4 @ 40

9. kwiagaH fawsh e fag A (0, 1), B (2, k) @1 C4, —5) 5@ 8, 2
(a) 2 (b) -2 (© 0 d 4

10. af¢ A ABC ~ A DEF 389 &R & 76 AB = 1.2 ¥ 941 DE = 1.4 3¢ g, 1 fagsi
ABC @1 DEF o &a%ali § 3791 & :
(a) 49 :36 (b) 6:7 (¢ 7:6 (d) 36 :49
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3.  The common difference of an AP, whose n'® term is a,=@Bn+7),is
(a) 3 (b) 7 (¢ 10 (d 6
4.  The value of A for which (x? + 4x + %) is a perfect square, is
(a) 16 (b) 9 (© 1 (d) 4

5. The value of k, for which the pair of linear equations kx + y = k? and
x + ky = 1 have infinitely many solutions is

(@) £1 (b) 1 (¢ -1 d 2

6. The value of p for which (2p + 1), 10 and (Bp + 5) are three consecutive
terms of an AP is

(a) -1 (b) 2 (© 1 (d) 2
OR

The number of terms of an AP 5,9, 13, .... 185 1is

(a) 31 (b) 51 (0 41 (d) 40

7. Infig. 1, the graph of the polynomial p(x) is given. The number of zeroes of

the polynomial is
N

\/ff.,.m

AN 4 _O_l'i 2 3 4 5
-2
-3
-4
v
Fig. 1
(@) 1 (b) 2 (¢ 3 @ o

8. If (a, b) is the mid-point of the line segment joining the points A(10, —6)
and B(k, 4) and a —2b = 18, the value of k is
(a) 30 (b) 22 (0 4 (d) 40

9. The value of k for which the points A (0, 1), B (2, k) and C(4, -5) are
collinear is

(@) 2 (b) —2 (@ 0 d 4

10. If AABC ~ A DEF such that AB=1.2 em and DE = 1.4 em, the ratio of the
areas of A ABC and A DEF is
(a) 49 :36 (b) 6:7 (¢ 7:6 (d) 36 :49
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[E5as
T &A1 11 9 15 ¥ o w6l gfd I | Tk T 1 3 1 2 |

(0, 5) TT (=5, 0) % =T F gl hT\2 T 21

4 et Froen ey e <61 2 e TS s <6 o 1 g 21

FBIA 2 H, O 5 aTc1 g i PA 1 PB 1 ¥931 {16 39 TR &l & foh LAPB = 50°
B,ALOABHIAM__ 7|

A
< 0
p
B
HTHA-2
e

3THd 3 H PQ U I i T Sial & ag1 PT, P R ¥9%1 @1 UHi 2 6 ZQPT = 60° %,
1 ,PRQ &1 579 2

3 cot 40° 1 (cos 35°) _
tan 50° 2 \gin55°)  ———

T (1 + sin 6) (1 —sin 0)
a&COtB_S%’?ﬁ (1 + cos 0) (1 —cos 0) PTHM 2l

I AT 16 H 20 -3 ThR b T &, 86 F T 1 TS 1 8 |

] ]
(1+cot29+ 1+tan29)wmw%?
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In Q. Nos. 11 to 15, fill in the blanks. Each question is of 1 mark :

11. '\IE times the distance between (0, 5) and (-5, 0) is

12. The distance between two parallel tangents of a circle of radius 4 em is

13. In Fig. 2, PA and PB are tangents to the circle with centre O such that
ZAPB =50°, then the measure of ZOAB is
A

< 0
P

B
Fig. 2
OR
In Fig. 3, PQ is a chord of a circle and PT is tangent at P such that
ZQPT = 60°, then the measure of ZPRQ is

3 cot 40° 1 (cos 35°)
tan 50° ~ 2 \sin 55°) ~

7 (1+sinB) (1—sinb)
15. Ifcot B = 3 then the value of (1 + cos 0) (1 —cos 0) —

Q. Nos. 16 to 20 are short answer type questions of 1 mark each.

) 1 1
16. What is the value of( 1+ oot 0 + 1+ tan? 9) ?

30/3/1. | 7 P.T.O.
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a5
Tl TS AT 93T ol SATsdl H 1 : 3 1 1A & YT 3eh! BISA3T H 3 : 1 1 37I@ &, A
3ok ST | T STIITA & ?

AT FA 1 TAFT hich, IH H 1 FgAh FIA hITTT [TEehT HTET 8.32 TT HILHH
8.05% |

e shed a1 B ohl TTRIehdl 0.85 &, A1 hed o1 A 81 h] TIfehdl FT 8 ?

TYH n TThd HEAT3T 1 AT 1R 7

wE-d
I HEAT 21 H 26 G Tk Y h 2 376 & |
I 941 12, 8, 4, ..., —84 % 1" T ¥ (YYH U 1 HAR) 1141 ¢ F1d I |
Freran
T TR &1 g SIfT
1+5+9+13+ ... +x=1326

FTHIA 4 H, g O It I i Th ST AB 8, AOC Th =¥ & a1 foig A o el 3@

AT # | fag Fiu fes ZBAT = ZACB.
C

Oe B

fi‘ Cd

A
SATeHId-4

3 1 —cos? 0
aﬁ;'tane-4%,a‘f(1+msze)aﬂuﬂma?rml

CE]

2secO
I tan 0 -\IE%,?h[l s ejwmqmaﬁrmi
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17. Two right circular cones have their heights in the ratio 1 : 3 and radii in the

ratio 3 : 1, what is the ratio of their volumes ?

18. Using the empirical formula, find the mode of a distribution whose mean
is 8.32 and the median is 8.05.

19. The probability that it will rain tomorrow is 0.85. What is the probability
that it will not rain tomorrow ?

20. What is the arithmetic mean of first n natural numbers ?

Section - B

Q. Nos. 21 to 26 carry 2 marks each.
21. Find the 11th term from the last term (towards the first term) of the AP
12,8, 4, ..., -84.
OR
Solve the equation :
1+5+9+13+ ... +x=1326

22. In Fig. 4 AB is a chord of circle with centre O, AOC is diameter and AT is
tangent at A. Prove that Z/BAT = ZACB.

C
Oe B
A T
Fig. 4

3 1 —cos? 8
23. If tan 6 =7, find the value Of[ 1 + cos? 9)

OR

2 0
If tan 6 =4y3, find the value of ( 1 +iz(;2 9)

30/3/1. | 9 P.T.O.
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94 et sgede 1 o e 37 i fan st 3 TR A

eqT X11 o fernferai 7 31a- faemer™ & fore ves 3ugr fean St 6 we feereft o1 om
g Toraent 3mar SfieT &1 319 Tien g ek S 91g 1 SoHEhR e & Toreh! TR
T 21 Tt aut Sa1s 3.5 Ui 8 | S W 1 THetat 1 Ue aYT 391 o 9 @I A
T v fpmman g |

i) T59M 100 em? S g ToeTet U2 o1 = Fd =1 8 ?
(ii) I U1 ST M2 3 AT 1 IET &ARA 18 ?

25. U AT I MU A9 o a9 H 53 We@R a1 53 AHAR & ohl TTEhdl F1d hig |

26. Ifefm S HTHTE 75 8 Al p BT HH Fd hIST :

= 24 | 46 | 6-8 | 810 | 10-12 | 12-14
TRERAT 6 8 15 p 8 4
e -

T3 HEAT 27 U 34 b Ycdeh YT h 3 HAF & |
27. Ffed@M a, 7,b, 23, c Th UL IGI T &, Al a, b AT ¢ o T F1d shifT |
O

Ife T THIAL FE! ® md I¢ ST m T[T, 35 nd 9 o n T o ST &, al ITST feh 39
a@ﬁ(m+n)ﬁﬂﬁ3ﬁ%l

28. k% o9 HM F1q shiterg foes foru fgama oeflehor (k+ 4) a2+ (k+ 1) x+ 1 =0 T
A & |

29. WEIG a3 — 3a2 + & + 2 I Th 3 F5UE g(x) | HFT i T WITHA qT AT FHA:
x— 2T —2x + 48 | g(x) T HITY |

O
IfG §ZTG f(x) = 42 — 8 + k o IAehi b I oI AT 40 &, I k 1 HH T4 ShIMIT |
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Students of Class XII presented a gift to their school in the form of
an electric lamp in the shape of a glass hemispherical base surmounted by
a metallic cylindrical top of same radius 21 em and height 3.5 em. The top
was silver coated and the glass surface was painted red.

(1) What is the cost of silver coating the top at the rate of ¥ 5 per 100 cm? ?

24. Read the following passage and answer the questions given at the end :

(11) What is the surface area of glass to be painted red ?

25. Find the probability that a leap year selected at random will contain 53
Sundays and 53 Mondays.

26. Find the value of p, if the mean of the following distribution is 7-5.

Classes 2-4 | 46 | 6-8 | 8-10 | 10-12 | 12-14
Frequency (fi) 6 8 15 p 8 4
Section - C

Q. Nos. 27 to 34 carry 3 marks each.
27. Find a, b and cif it is given that the numbers a, 7, b, 23, ¢ are in AP.
OR

If m times the m™ term of an AP is equal to n times its nth term, show that
the (m + n)® term of the AP is zero.

28. Find the values of k, for which the quadratic equation
k+4) x>+ &+ 1) x+1=0 has equal roots.

29. On dividing »* — 3x®> + ¥ + 2 by a polynomial g(x), the quotient and
remainder were x — 2 and —2x + 4 respectively. Find g(x).

OR
If the sum of the squares of zeros of the quadratic polynomial

f(x) = x> — 8x + k is 40, find the value of k.

30/3/1. | 11 P.T.O.
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30. feg P(4, y) Teigsti A(-6, 10) @& B(3, —8) w1 fHelM aTel W@ W f&d 2 d1 a8
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31. Tag =iy fop ot o fopdi Terg o vt v e foig & ST vl Forser o o 8l 2 |

HUA

firg <hifore fop Torell e feig & fopell g T il ¢ et st % st B W o
faigait 21 firemy ey YT g 3 R AR H 1 HEE A |

32. T THeh U TS H, Tig shifsTu fon vl o1 &l 3771 1 SS1371 o =TT o AN < THH BT 8 |
33. Afesin O+ cos O =p AT sec O + cosec O = q &, dl B q (p2— 1) = 2p.

34. 500 safad Tk 80 HY. T aUT 50 . TS Teh TAIRRR TR H Saehl ofTld & | 3¢ U
o gRT 318d 0.04 5= HY. a1 fereentua fepam Sran 8, o @k § 9 & 9o 4 Tt

g a2 ?

TE-9
I BT 35 H 40 T Tk Y h 4 37 ¢ |
35. i3y fon fordl Wrehd & n 6 TAAW (12)", 0 391 5 4 |9Ted 481 31 Fehe |

AUl

fag FffH (f2 +\/5) T smfim den 2 |
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30. In what ratio does the point P(—4, y) divide the line segment joining the
points A(—6, 10) and B(3, —8) if it lies on AB. Hence find the value of y.

31. Prove that, a tangent to a circle is perpendicular to the radius through the

point of contact.
OR

Prove that the angle between the two tangents drawn from an external
point to a circle is supplementary to the angle subtended by the line

segment joining the points of contact at the centre.

32. In a right triangle, prove that the square of the hypotenuse is equal to the

sum of squares of the other two sides.
33. Ifsin 6 + cos B =p and sec 6 + cosec 6 = ¢, show that q (p2— 1) = 2p.

34. 500 persons are taking dip into a cuboidal pond which is 80 m long and
50 m broad. What is the rise of water level in the pond, if the average

displacement of the water by a person is 0.04 m? ?

Section - D
Q. Nos. 35 to 40 carry 4 marks each.

35. Show that (12)" cannot end with digit 0 or 5 for any natural number n.
OR

Prove that (\E + \[5) is irrational.

30/3/1. | 13 P.T.O.
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36. Teh (RISl U e gl b wHMH =Tl | o Ldl & | 3G I8 Tl 6 km/h. oS =Te

q IoAd! a1 98 e 999 9 4 92 %9 odl auT afe 98 6 km/h. R &1 = 4 =9adt a1
Ig [irerd oo 9 6 = b ordl | A1 b iz gl 3ird i |

37. U HHaTg s ABC H, DWBCW@@T%@%%BD:%BC% | g i
9 ADZ=17 AB? |

FHYA

Tog ShifST foh U Trart o1 S13TT o ST 1 AR IHeh ToehUTl b ST ob AR oh SIS
BTE |

38. af weh et 6l Tas & 10 . H Fas W RIa v foig I U 1ee 1 I+ B0 30° 7
AT ST 1 Bt H TS 1 341 foig T 37a54 101 60° 8, d1 S1ee ! 3ict ! Tz &
ST 37 ST |
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T o Topll Toig | warrgue o et auT Sl ol o 319 <hivT hsl: 45° UT60° 2 |
h 1 HH STd ST |

39. 4.4 x 2.6 ™. x 1 I, fa@1317 9l AE o 3 TR gohe I [THeThl Th @&l
TR 18T H BTeAT 731 Torgeh Tdies Brsar 30 Tt 9UT HAiers 5 Il 2 | 9157 shl oarg
1 HIFT |

40. T4 SRERAT 5ed & {0 T ‘T 34eh YohR T T SRR ogh QiU | 3Ad: S &l

TTEh T T ST :
= : 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
JERAl 5 15 20 23 17 11 9
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36. A train covered a certain distance at a uniform speed. If the train would
have been 6 km/hr. faster, it would have taken 4 hours less than the
scheduled time and if the train were slower by 6 km/hr., it would have
taken 6 hrs. more than the scheduled time. Find the length of the journey.

37. In an equilateral triangle ABC, D is a point on the side BC such that
1
BD =3 BC. Prove that 9 AD?=17 AB.

OR

Prove that the sum of squares of the sides of a rhombus is equal to the
sum of the squares of its diagonals.

38. If the angle of elevation of a cloud from a point 10 metres above a lake is
30° and the angle of depression of its reflection in the lake is 60°, find the
height of the cloud from the surface of lake.

OR

A vertical tower of height 20 m stands on a horizontal plane and is
surmounted by a vertical flag — staff of height h. At a point on the plane,
the angle of elevation of the bottom and top of the flag staff are 45° and
60° respectively. Find the value of h.

39. A solid iron cuboidal block of dimensions 4.4 m X 2.6 m X 1 m is cast into a
hollow cylindrical pipe of internal radius 30 ecm and thickness 5 em. Find
the length of the pipe.

40. For the following frequency distribution, draw a cumulative frequency
curve of ‘more than’ type and hence obtain the median value.

Classes 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency 5 15 20 23 17 11 9

30/3/1. | 15
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